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Max. marks : 70
Note :

(i) This question paper is divided into 3 section.

(ii) Section A consists of 30 marks

(iii) Section B and Section C are of 20 marks each.
(iv) Answer the questions after carefully reading the text.

SECTION - A

1. Answer the following questions :

(a) Expand the following abbreviations and explain in brief :


2
(i) FSF

(ii) W3C

(b) Write one point of difference between Freeware and Free Software.
2
(c) What is Inventory?  What is the role of Inventory Control System?

2
(d) Name the essential components of SDLC. Explain any three in brief.
2
(e) Draw an entity-relationship diagram to illustrate the case given below :
2
In a Factory, a Vendor can supply various items. Each vendor has got a vendor code, vendor name, vendor address and each item also has got an item code, item name, its price per unit. When a vendor supplies an item the transaction is recorded and the information about the transaction stored is date of Supply, Quantity supplied, Order number, Item code and Vendor code. Map the E/R diagram to corresponding table. Also identify the key fields.

2. Answer the following questions :

(a) What are type declaration characters ? Write the different type declaration characters available in VB.



 


2

(b) Write the click event handler for a command button cmdAvg that asks the user to input 5 numbers, create an array from these numbers and then prints their average. 








2

(c) On the click event of a cmdCheck write the Loop to print following pattern:









4
*****

***

*

***

*****

(d) What is the difference between following two function definitions ?
2
(i)
Function Replicate$(Ch As String)


Dim prnStr As String


For I = 1 to 20



prnStr = prnStr & Ch


Next 


Replicate = prnStr


EndFunction

(ii)
Function Replicate(Ch As String) As String


Dim prnStr As String


For I = 1 to 20



prnStr = prnStr & Ch


Next


Replicate = prnStr

End function

3. (a)
Given two strings string1 and string2, write statements to :


4
(i) determine which string is lengthier

(ii)
which string is bigger (e.g. B>A)


      (b)
Write the characteristics of MDI Child Forms?



2

      (c)  Read the following case study and answer the question that follow :
4
Mr. Das is working as a Chief Information Officer in AMD Constructions Company. In this month of January he received a letter form the management to store all his employee information in electronic form. He decided to develop a small software application to store employee’s personal data. He instructed one of his juniors to make a form in VB to enter  employee information. The junior presented the following form to Mr. Das :
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Employee Data Entry Form

Name. | Gender
S Male  Female
Mother Name Educational Qualiication
Address Intemediate
Gradate.
Post Graduate

Clear Form SubmitDetal Close Fom





The form details are given in the following table :

	Object or Control Type
	Object Name
	Description

	Form Label
	frmDataEntry
lblEmployeeDataEntry

lblName

lblFatherName

lblMotherName

lblAddress
	The Main Form Object

	Text Box
	txtName
txtFatherName

txtMotherName

txtAddress
	To enter name of employee
To enter father name of emp.

To enter mother name of emp

To enter address of employee

	Option button
	optMale
optFemale
	To provide Gender information

	Check Box
	chkIntermediate

chkGraduate

chkPostGraduate
	To be check if emp is Intermediate
To be checked if emp is graduate

To be checked if employee is post graduate

	Command button
	cmdClearForm
cmdCloseForm

cmdSubmitDetails
	To clear all the entered values in the form
To close the form

To store the form data


(i) Write a Code snippet on click event of cmdClearForm command button to clear text box objects, set default choice in the option buttons and clearing check box controls.
(ii)
Write a procedure procConvertCase to convert all the employee details in 
txtName, txtFatherName, txtMotherName and txtAddress to Upper Case 
character.
SECTION - B
4. Answer the following questions :

(a) Name the middleware built around ADO technology?


2
(b) To fetch records based upon a query, which type of recordset is needed ? Consider the fact that updations are to be performed on the recordset.
2
(c) List the IDs of patients treated by same physician (using Self-Join)?
3
(d) Write the purpose of following schema objects :



3
(i) Tables 


(ii) Views


(iii) Synonyms

5.
     Answer the following questions :

(a)
What is database fragmentation? How is it related to distributed databases? 2
(b) What are the three components of Client/Server Architecture?

 3
(c) Write a PL/SQL program using nested block in which the outer block should 
calculate and display square of three given numbers and inner block should 
display the product of these given numbers.




5
SECTION - C
6.

Answer the following questions :

(a)
What is a transaction in PL/SQL? What commands are available in PL/SQL for 
transaction handling?







2

(b)
When a DML statement is executed, where is the outcome of the statement 
saved?









2

(c) How  are implicit cursors different form explicit cursors?


2
(d)
What are procedures ? What types of procedures can be created in

 PL/SQL?








2

       (e)
What are functions ? How are they different form procedures ?

2
7.

Answer the following questions :

(a)
What is a Trigger ?







2

(b)
Give the syntax for Enabling/Disabling Triggers?



2

(c)
What are INSTEAD OF triggers ?





2


      (d)
What is the difference between procedures and triggers ?


4
--x--

Answer sheet

Section-A
1. (a) (i) 
FSF – Free Software Foundation, it is a non-profit organization for 
supporting 
free software movement.

      (ii)
W3C – World Wide Web Consortium, it is responsible for producing the 
software standards for World Wide Web.

(b) Freeware are the Software, which permit redistribution but not modification (their source code is not available). 



Free Software are the Software, which permit redistribution and 

modification in the software is allowed because their source code is 

freely available.
(c) Inventory  is the means by which all items are identified, priced and tracked. Inventory Control Management System is designed to maintain optimum inventory levels, control inventory costs, and track merchandise movement. It provides the tools needed to minimize inventory levels and out-of-stock conditions, and maximize valuable management information and profitability.
(d) Preliminary study/survey, Feasibility Study, Investigation & fact recording, Analysis, Design, Implementation, Maintenance & Review.
2. (a)
 Data type of variables can be specified while declaring variables by using some 
special characters in place of data types. These special characters that specify 
the data type are known as type declaration characters.
Eg. Dim Rollno%



This statement will declare rollno of integer datatype because the character % is 

type declaration symbol for integer data type.


Different type declaration characters available in VB are –

	Type Declaration Characters
	Data Type

	%
	Integer

	$
	String

	@
	Currency

	&
	Long

	#
	Double

	!
	Single



(b)
Private Sub cmdAvg_click()


Dim NumberArray (5) As Single, Index As Integer, Sum As Single


‘ read in an array of numbers



For Index = 1 To 5



NumberArray(Index) = InputBox(“Enter a number”)



Next



‘ calculate the average



For Index = 1 To 5



Sum = Sum + NumberArray(Index)


Next



MsgBox “Average is : ” & Sum/5



End Sub
(c) Private Sub cmdCheck_click()

Last = 5 :sp = 2
For I = 1 to 3

For j = 1 to last

Print “*”;

Next 

Print 

If I <3 then

For k = 1 to sp

Print “ ”;

Next

End if

Sp = sp+2

Last = last-2

Next

Last = 3: sp=2

For I = 1 to 2

For k =1 to sp

Print “”;

Next

For k=1 to last

Print “*”;

Next

Print

Sp=sp-2

Last =  last+2

Next

(d) Both the above functions are having return type String. The difference between above two functions is that the return type of first function has been defined implicitly through type declaration character $, whereas the return type of second function has been specified explicitly through AS String clause of function definition as highlighted below:
Function Replicated(Ch As String) As String


.


.





.
3. (a) (i)
IF Len(String1) > Len(String2) Then
Print “String1 is lengthier”



ELSEIF LEN(String2) > Len(String1) Then



Print “String2 is lengthier”



ELSE




Print “Both strings are equal in length”



ENDIF


(ii)
IF ASC(String1) > ASC(String2) Then




Print “String1 is Bigger”



ELSEIF ASC (String2) > ASC(Sting1) Then



Print “String2 is Bigger”



ELSE




Print “Both strings begin with same letter”



ENDIF


(b)
Characteristics of MDI Child Form –
· When an MDI child window is maximized at runtime, its caption is merged with that of the MDI parent
· MDI Child forms cannot be modal, i.e., they cannot block the user from selecting other MDI Child windows.

· When you minimize a child form, it shrinks to an icon within the MDI parent’s client area.

· Multiple MDI Child forms can be arranged in the MDI parent’s client area using the Arrange method of the parent form.

· If a child window has a menu, its menu replaces the parent’s menu when the child form has the focus.


(c)
(i)
Private Sub cmdClearForm_Click()





txtName.text = “”





txtFatherName.text = “”




txtMotherName.text = “”





txtAddressName.text = “”





optMale.value = True





chkIntermediate.value = vbUnchecked





chkGraduate.value = vbUnchecked





chkPostGraduate.value = vbUnchecked




End Sub 



(ii)
Private Sub procConvertCase()




txtName.text = UCase(txtName.text)





txtFatherName.text = UCase(txtFatherName.text) “”





txtMotherName.text = UCase(txtMotherName.text) “”





txtAddressName.text = UCase(txtAddressName.text) “”




End Sub
4. (a)
OLE DB provider
(b)
Dynaset type recordset
(c)
SELECT t1.patient_no, t2.patient_no,phy_id

FROM treats t1, treats t2


WHERE t1.phy_id = t2.phy_id


AND t1.patient_no <> t2.patient_no;

(d)
Table – These are the basic storage units within an RDBMS i.e., within Oracle 
also. The data you type, modify, query upon etc., is stored inside tales only.

Views – A View is a virtual table that can be thought of as an SQL SELECT 
statement that selects data from a single table or joined table(s), but can be 
accessed as though it were a single table.

Synonyms – Synonyms are basically used to specify an alternate name for a 
database table or view. Synonyms can be used to give tables/views much shorter 
and simpler names.
5.
(a)
Database fragmentation refers to dividing the database tables in small pieces 

called fragments.


Database fragmentation is related to distributed database in the sense 
that for a distributed database, the data need to be distributed among many sites. 
For this distribution, database fragmentation plays an important role, usually.

(b) 
The three components of Client/Server architecture are :-

(i)
The Client is any computer process that requests services from the 

server. It is also known as the front-end application.

(ii)
The Server is any computer process providing services to the clients. 

The server is also known as the back-end application.

(iii)
The communication middleware is any computer process(es) through 

which clients and servers communicate. It is also known as middleware 

or communications layer.
(c)
DECLARE
var1 NUMBER(2) := 3;

var2 NUMBER(2) := 4;

var3 NUMBER(2) := 5;

sq1 NUMBER(2);
sq2 NUMBER(2);

sq3 NUMBER(2);



BEGIN




sq1 := var1*var1;



sq2 := var2*var2;




sq3 := var3*var3;




<<Calc_Product>>



DECLARE





prod NUMBER(3);



BEGIN





Prod := var1*var2*var3;




DBMS_OUTPUT.PUT_LINE(‘Product =’ || prod)





DBMS_OUTPUT.NEW_LINE( );




END Calc_Products;



DBMS_OUTPUT.PUT_LINE(‘Square 1 = ’ || sq1);




DBMS_OUTPUT.PUT_LINE(‘Square 2 = ’ || sq2);




DBMS_OUTPUT.PUT_LINE(‘Square 3 = ’ || sq3);



END

6.
(a)
A transaction is a logical unit of work (LUW) that is composed of one or more 

Data Manipulation Language (DML) or Data Definition Language (DDL) 


statements.
There are three transaction specifications available in PL/SQL. These are :-

Commit -  It saves all outstanding changes since the last COMMIT or 
ROLLBACK are releases all locks.

Savepoint – It establishes a savepoint (i.e., a mark) which then allows you to 
perform partial ROLLBACKs.
Rollback – It erases all outstanding changes since since the last COMMIT or 
ROLLBACK or SAVEPOINT and releases all locks.
(b)
When a DML statement is executed, the outcome of the statement is saved in 

four cursor attributes. These are -
SQL%FOUND

SQL%NOTFOUND

SQL%ROWCOUNT

SQL%ISOPEN


(C)

	IMPLICIT CURSOR
	EXPLICIT CURSOR

	Maintained internally by PL/SQL Opened and closed automatically when the query is executed.
	Defined with a name and is opened and closed explicitly in a PL/SQL program.

	The cursor attributes are prefixed with SQL (eg. SQL%FOUND)
	The cursor attribute are prefixed with the cursor name (eg. %FOUND)

	The cursor attribute %ISOPEN is always FALSE
	The %ISOPEN attribute holds the value of the status of the cursor.

	Only one row can be processed using the SELECT INTO statement.
	Any number of rows can be processed. Iterative routines are usually used to process each row.



(d)
A Procedure is a logical group of SQL and PL/SQL statements that performs a 

specification.
There can be two types of procedures in PL/SQL. These are –



(i) 
Local or anonymous procedure

(ii)
Stored Procedure



Procedures without names or headers are known as local or anonymous 


procedures. And the procedures having a proper header and name are stored 

procedures.


(e)
Functions are modules that precisely carry out one specific job and return a 

value. 

A function like a procedure receives arguments form the calling program. The difference is that a function is part of an expression and returns a single value to the calling program for its use.
7.
(a)
Trigger


A Trigger is a stored procedure that defines an action the database should take 

when some database-related event (such as inserts,updates,deletes) occurs. We 

can say that a database trigger is a set of PL/SQL statements that execute each 

time an event such as an UPDATE, INSERT or DELETE statement occurs on 

the database.


(b) 
Enabling/Disabling Triggers



ALTER TRIGGER <trigger_name> {DISABLE|ENABLE};

(c)
INSTEAD OF trigger



The INSTEAD OF triggers are the triggers written specially for 


modifying views, which can not be directly modified through SQL DML 


Statements.

(d)
The difference between Procedures and Triggers is that a procedure is executed 

explicitly (i.e., the user has to issue procedure call statement) from another 

block via a procedure call with arguments, while a trigger is executed implicitly 

whenever the triggering event (i.e., the occurrence of a DML statement – 


INSERT, UPDATE, or DELETE) happens. Also a trigger doesn’t accept 


arguments.
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